# PIQYADE

# Looking to order drinks to cater for your event?

### Important Service Information:

- A surcharge applies to all deliveries and services schedule between 9:30 PM and 10:29 AM.
- Additional surcharges apply for deliveries to Sentosa Island, Jurong Island, or locations without lift access.
- For safety reasons, we are unable to deliver live stations to locations without lift access.
- Charges will also apply for any extra materials or services requested beyond the confirmed order.
- Topping availability is subjected to our latest boba schedule
- For any toppings (applies to bulk order) not listed, a minimum order of 20 servings is required.
- All services and orders are non-transferable, non-refundable, and not exchangeable for cash.
- Full payment is required upon confirmation to secure your preferred date and time.
- Prices and promotions are subject to change without prior notice.









### PRE-PACKED

# **BULK ORDERS**

### **STEP 01: SELECT DRINK**

		M	
Osmanthus Oolong Tea	35	4.8	5.8
Honey Green Tea	<u>○</u> 55	4.8	5.8
Chrysanthemum Milk Tea	<u>65</u>	4.8	6.2
Taiwan Milk Tea	<u>()45</u>	4.8	6.2
Osmanthus Oolong Milk Tea	<u>()45</u>	5.7	6.4
Cocoa	<u>○85</u>	5.4	6.9
Passionfruit Pulp Green Tea	<u>○85</u>	6.0	6.9
Orange Pulp Green Tea	<u>()</u> 65	6.8	8.6



### **STEP 02: SELECT TOPPINGS**



Pink Cactus Boba	<b>3</b>	1.4
Black Sesame Boba	<b>(23)</b>	
Burnt Caramel Boba	<b>65</b>	
Chrysanthemum Boba	***	
Grape Boba	<b>44</b> 5	
Honey Boba	<b>4</b>	
Osmanthus Jelly	<b>(±2</b> s)	
Aloe Vera	<b>1</b> 25	
Kanten Jelly	<b>18</b> 5	1.4

### **STEP 03: FOOD ADD-ONS**

Original Egglet	3.5
Black Sesame Egglet	4.9
Cocoa Egglet	4.9
Matcha Egglet	4.9
Chicken Spam Egglet	7.4



**DELIVERY FEE - \$25 (per trip)** Delivery fee waived upon \$125 minimum spent

EST. COST FOR CATERI			ING 100 PAX
Item	Qty	Cost	Sub-total
M Taiwan Milk Tea	50	\$4.80	\$240.00
M Osmanthus Oolong Tea	50	\$4.80	\$240.00
Pink Cactus Boba	100	\$1.40	\$140.00
Delivery		\$25.00	\$25.00
Waived Delivery Fee		-\$25.00	-\$25.00
			<b>Total:</b> \$620.0



Nutri-Grade mark is based on iced version at 100% sugar.

# **LIVE STATION**

### **STEP 01: SELECT OPTIONS**



STEP 2: SELECT

Min. gty of 50 servings per flavour

### **STEP 02: ADD BOBARISTA**



### \$55/hour for each Bobarista

Additional 1 hour (30mins each) required for Setup & Teardown . \*Min. 2 pax

### **STEP 03: ADD LOGISTICS FEE**





### **STEP 04: ADDITIONAL DELIVERY FEE**

### \$70 per trip

	EST. COS	T FOR CATE	RING 100 PAX
Item	Qty	Cost	Sub-total
M Taiwan Milk Tea	50	\$4.80	\$240.00
M Osmanthus Oolong Tea	50	\$4.80	\$240.00
Pink Cactus Boba	100	\$1.40	\$140.00
Bobarista - 2pax (2 + 1 hour set up & teardown)	2x3hrs	\$55.00	\$330.00
Pushcart Delivery (2-way)		\$150.00	\$150.00
			Total: \$1100.00

# **DIY BOBA TEA STATION**

### **STEP 01: SELECT OPTIONS**



Min. qty of 50 servings per flavour,



### STEP 02: ADD MATERIAL FEE

### RENTAL: \$100

REOUIRED by venue provider:

bowl, shaker cup, ice scoop, pearl scoop,

### **SELF-ASSEMBLY: \$90**

cup lid, topping, display bowl, shaker cup, ice scoop,

### **STEP 03: DELIVERY FEE**

### \$30 per trip

2-way delivery required, charged at \$30/ trip Fee is waived upon \$125.



	EST. COST FOR CATERING 100 PAX		
Item	Qty	M-sized drinks	Party-sized drinks (12oz)
Taiwan Milk Tea	50	\$4.80	\$3.30
Osmanthus Oolong Tea	50	\$4.80	\$3.25
Pink Cactus Boba	100	\$1.40	\$1.00
Material Fee (Rental)		\$100.00	\$100.00
Delivery		\$60.00	\$60.00
Waived Delivery Fee		-\$30.00	-\$30.00
Total:		\$750.00	\$557.50

# **GELATO LIVE STATION**

### **STEP 01: CHOOSE YOUR FLAVOURS**

Chrysanthemum Milk Tea Black Sesame Grape Yakult

- \$25/ tray for each topping
- \*Strawberry Cheese Cake

**REGULAR:** \$165/ tray for each flavour **PREMIUM\*:** \$175/ tray for each flavour Each tray serves ~30 scoops.

### ADD ON TOPPINGS (OPTIONAL)

Pink Cactus Boba	Chrysanthemum Boba	Osmanthus Jelly
Black Sesame Boba	Grape Boba	Aloe Vera
Burnt Caramel Boba	Honey Boba	Kanten Jelly



### STEP 02: ADD MANPOWER

### \$55/hour for each staff

Additional 1.5 hours required for setup & 30 mins of teardown. 2 pax are required.

### **STEP 03: ADD SETUP FEE**

### \$180 for Pushcart + Gelato Freezer

PROVIDED by PlayMade: Pushcart, flavour tags, gelatos



	EST. COST FOR CATERING 90 PAX		
Item	Qty	Cost	Sub-total
Regular Flavours (tray)		\$165.00	\$495.00
Pink Cactus Pearls (tray)		\$25.00	\$25.00
Pushcart + Gelato Freezer Delivery (2-way)		\$180.00	\$180.00
Bobarista (2 pax)		\$55.00	\$440.00
(2 hrs event + 1.5 hrs setup + 0.5 hrs teardown)			
			<b>Total:</b> \$1140.00

# **TEATRAVELLER PACK** (3.5L) 10 pax

### STEP 01: SELECT DRINK (PRICE \$43.9)

Taiwan Milk Tea	<u></u>
Chrysanthemum Milk Tea	<u> </u>
Dong Ding Oolong Tea	□ 3₂
Osmanthus Oolong Tea	□ 3₂
Dong Ding Oolong Milk Tea	<u>O</u> 5
Green Milk Tea	<u> </u>



Drinks are served hot/warm. Comes along with 10 serving cups and straws.





### STEP 02: SELECT 1 TOPPING (TOP UP \$11.9)

Pink Cactus Boba	<b>±3</b> <sub>3</sub>
Black Sesame Boba	<b>2</b>
Burnt Caramel Boba	<b>45</b> 5
Chrysanthemum Boba	<b>2</b>
Grape Boba	<b>4</b>
Honey Boba	<b>4</b>
Kanten Jelly	<b>18</b> 5

### **STEP 03: DELIVERY FEE**

### \$25 per trip

Fee waived upon \$125 min. spend

EST. COST FOR CATE			RING 20 PAX
Item	Qty	Cost	Sub-total
Taiwan Milk Tea		\$43.90	\$87.80
Pink Cactus Boba		\$11.90	\$23.80
Delivery Fee (Amt spent less than \$125)		\$25.00	\$25.00
			<b>Total:</b> \$136.60



Nutri-Grade mark is based on iced version at 100% sugar.

## **GOT ANY IDEA?**

# LET'S BRING IT TO LIFE!

Whether you're celebrating a milestone, planning a corporate event, or just looking to create something unforgettable — we're here to make it joyfully delicious.

No idea is too **bold** or too **bubbly.** Dream big, go wild, and let's create something truly one-of-a-kind together!



We can't wait to hear from you!

Contact us: info@playmade.com



